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But we have established that one is not both flogged and pays

Overview

The mwn stated,? one who steals and slaughters an animal on ™93 01’ is liable for the
'M '7 payments (since there is no 7"°2 nn n 211). The XA asks but there is a 211
mpon for slaughtering on 3", and we know that 22w 71217 1°X. Our MdoIN reconciles
this question with a seemingly contradictory X77a.

= (0VI R,29 97 MAn3) SANIYPI IINT PHINNDN 7599 993 99N
The X723 also asks the same question on the 7w of N1 w1 ™K PO —

nooIN asks:
= 699 OV NONINN 1929957 DOYNI NPIYT SRNDY 9915 1 1INT YHRWUN “DIpa NNT NN

And it is astounding; for regarding i payment, it seems that everyone agrees

that one is a»2my 1Y%, for we derive it from a 2''wIm -
= Y9 OV NN PHNNT 593 192999 MDY (owvIn, 797 ™Man< NP P992 NIIMNTI

As is evident in the first P22 of nwo» noon that we would have derived in all

instances from '@ that 2%wn1 77 (even when it is not a 01p) -
= 3031 19Y ¥9 OV NONIND N1 T9919Y NIINT IND ON

If not for the fact that it is possible to refute this by saying, why is it that by 2""wxm

he is 22wm 7717, because it is a 21, however when there is a monetary payment (not a 03p),
we cannot derive it from 2"w¥; indicating that we can derive a%wn 11 from 2"wxn, by a o1p

!'We derive this rule from the 7105 (in 2,75 [X2Nn] 2°727 regarding MpYn) which states 75022 MPWS 75 17107 1779M, we
infer from the singular use of NYW" to mean NPYWI "2 OWWH 121 ANX K1 12707 ANK DAR 7YWDY 2wn. One cannot be
punished twice; with NP and payment.

2Ry,

3 The mwn there (on X,13) mentions various cases where there is a 01p 217 for one who is (7n97) DIXM a 721N2 WA
Included are all those whose relations are forbidden and punishable by n13 (for there is no »"2%p by n13). The X3
asks, but there is a mp?n 21’1, so why should he pay 01p since 2wn P17 PRT 2"p K1

* The cases in M21N3 noon (regarding a 01¥M) and the case here of 'M '7 are both 017 payments.

3 This includes the 13127 who argue with »"7, who always maintains 22w 77,

6 A7"wx is one who marries a 79102 and claims (with witnesses) that she was 17111 after the Pw TP (before the 1RWw).
If it turns out that he falsely accused her, he receives mp» and must pay the father of his wife a D1p of 103 8% (see
v>-11°,20 [X¥N] 0*727). This is a case where he is 22w 712, We can derive from 1"wx that just as by the 01p of 1"wxn,
he is 02wm 77, the same is true by all other 01p payments that he is D2wm 7p1>.

7' See MmO in PXT "7 8,27 N2> (and in TIE there), where Mmoo elaborates.

8 A o1p (fine) payment, as opposed to a ‘regular’ 77an payment, is when the 037 is arbitrary, the same amount for all
situations, like the 01p of a 7"wx or a 011 which is the same for all. A monetary payment, such as for damages done
is in accordance with how much damage was done. ' '7 is also a 01p, because one pays more than one stole.
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payment (such as by 0ikn and 'm '7) -
= 0P INDT 1191 ANV 7)) INYYH 219

And the P05 of Inpw=a 975, which indicates 2>wm 7717 11X, we can establish by
other types of monetary payment which are not ©1p. What is the s'813 question here?!

mooIN rejects a possible answer to his question:
- NYN NP 100501091 7Y 29209 9NN 229N 21079 13297 Y PN

And it is difficult to say that the 3321 who argue with »'' (and maintain 777 PX

0>wm [even by 037]), they also maintain that 23221 297v is considered a 1P (just as
n"9 maintains) -
- O)pa ITPANT N91321Y 29N 0T DY1Y¥a nyw »719)

However they will also maintains that the p109 of \nyw= 37> is written regarding

1''D, in order to teach us that even regarding ®1p, the rule is -
— PNYYI ONY DIVN 12NN DHN NI 122010 NN HNN AYY DIVN

You may hold him liable for one wickedness, but you may not find him liable

for two wickedness’s; this answer is a pm7.!2 The question remains that presumably by o1 all
agree that 09w 7717 (which we derive from 7"wx), so what is the s'®) question, X7 %" X
own 179, since here we are discussing 01p —

Mo0IN answers:
- DI 1AV ¥ DY NONINY 111 TI9NY NIINT INY IN INTIT 1Y U

And one can say, that certainly if not for the fact that we can refute deriving 7917

o>wn from 2"wxn, for by 2''wxyn the payment is 23, so we cannot derive the same rule

of 02w P17 by 1n, but if not for this refutation!? -
- DY) NPT RNT 593 139999 MN

We indeed would have derived the rule in all cases that 22223 772 from 2w -
= MY 1IN 1PWATT BRINR NWHTY INYWA 279 19PY9T NI

And we would have expounded the 7105 of ynpw= 72 for another exposition (not

? See footnote # 1.

10 pommr 027w, who are discredited, are liable to pay whatever loss they wished to inflict on the alleged defendant. This
payment may be considered 17 because they pay the same amount as they attempted to inflict on the defendant.
Conversely it may be considered a 03p, since in actuality the defendant did not pay or lose anything; it was merely an
attempt. There is a dispute whether the payment of 1"V is 771 or a 03p.

11 See footnote # 1. Ostensibly this 709 is written regarding Mp2». The 7w D of 1"V is in (X2-T,0°) D0 W. However
the X713 in 2,2 N7 applies this P109 (and wIB) of MPHy, regarding 1"y as well. w">y.

12 1t is a pm7 because the X723 there in X,7 M2n states that 2" agrees with ¥" that 1"V is a 01p. This indicates that the
1127 (who argue with »"1 (and ¥") maintain that 1"y is 7700.

13 Meaning perhaps that 1"V is also 017 so there is no X37°8.

14 Since by 7"wxm the 7710 clearly rules that 272wm 712 we would rather not say that 1nywA >72 means 22wm 7717 TR,
and "W is a 3", but rather in all cases 02w P12 like 1"wxa. See ‘Thinking it over’.
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that 25Wm 77 1'X), as the X3 expounds it!> in MY ¥R 5. This is what might have
been if not for the X370 of '01p 1w 1"wW¥ N7 72’ -
- 795wy NPIY PRTINYYA 213 3P 6799199 NIINT NNWA YaN

However now that we can refute any attempt to derive 17 22w 7?12 from 2"wxn
(because D1p 1D 1"wxIN? 77), and we establish ynpw= 97> to teach us that P PR

abwny -
= DIPAIDAN PRYVUM PPIT 01T DY PNT ONNM PNNT Y91 13999 NOYIN

So now we derive in all places from 1nyw- 75, where the 1''y are not Pa>w2y PP

even by 91P; mooin explains how we know that 1"y are not Pn?wnI 112 even by 01p -
= 1P95UNI P75 0N OITY PINT NNIN NN )Y D921

For the 77711 states that 'Y are never %23 177% in any case -
= 0¥ M"Y 18y4959139 Inav APV TNV Nyva 199N

Even when at the time in which the 1"V testified falsely, the 1"y slaughtered or

sold a stolen animal, which is a 91 situation, nevertheless the 1"v are not Pp1? (for testifying
falsely), and Pnown (for the 'm '7), since PrR2WM P2 X -
- 19112 2303 MPYR 1PIPT Y7 DY NI 390 13299 PRNIT DITY)

And it is preferable to derive from 3''y that 1n%w» P17 PR (even by 01p) than to
derive from ="'wxy2 that Pnowm 1217 (by 01p), because the main rule of nipb» is

written by 1"V -
:NPPYNRN H3Y 199995 20055 TINROT NIYONT ININ)

And we derive the rules for all nvp®» in the 770, from the prohibition of
muzzling, which is written nearby.

Summary
Once we know that 7"V 1s 777 and cannot be derived from "W we apply the 109

of nywA *72 (which is written regarding 1"v) even by 01p that Pna>wm 1217 X since
we derive the rules of mp5» from 20nN &% which is written in close proximity to the
rule of mphn and 1"'v.

15 X"y0,1%. According to n"7 that o7wm npY» the Aw77 of YW1 *72 comes for either a case of 1M N or MPYM N7
that he receives only one punishment, not both.

16 Because 1"V is 1mn.

17 Because now since 1"V is 711, the rule of 02w 777 PR by 1"y does not contradict 27wm1 P> by 2"wywm, which is
o1p. See “Thinking it over’.

18 See the '01n in M21N3 (footnote # 7) that they can accomplish this though a m°w, for regarding ' '7 there is a oW
772y "aTh.

19 See footnote # 11.

20 The mwam of MpPon concludes in 3,75 (X¥N) 27127, and '7 710D states W°72 N 201N X2, We derive many laws of 21n
mpYn from the 0°10977 M2 10 (such as that be NP7 2°°17 it needs to be a WYn 12 W w WY, etc.).
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Thinking it over
Why is it if 1"¥ would be 017 we would apply 1nywa >73 for a XI1*INR AWIT (so 1"wXMN
should not appear to be a 3"7°13),2! but once 1"V is 111 we apply 1YW 72 by 1"V (that

oown 72 7°X,% but not XI1™MNX AWwIT?) even for a 01p, even though we are now still
making 1"wxm a "1

21 See footnote # 14.
22 See footnote # 17.
23 See nwn noma.
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